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The opinion of Rabi Mayer is that it is in place of the 75w

Overview

The X713 cited a 71wn which states, ‘if one says, “this (animal) shall be an exchange
for a 191, an exchange for a 2»%w”, it is an exchange for an 19, according to n"-.
However, "0 "1 maintains that it is a 7710 of both an 79 and a 2n5%w.! Our NvOIN
explains the reasoning of n"".
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In the second P22 of 2121 nOon, the X713 queries what is the ruling if he said, *“this
is an exchange of an 7797 and a 2mbw” -
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2R answered that in this case »''9 will certainly admit to >ov ' that it is a 7279 n7n

and 015w NN -
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And the reasoning of »28, why he distinguishes between these two cases, is as the
X3 explains in 92501 7355 P9 -
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That the reasoning of »''1 [according to *>2X] (in the case of 27w NN 721V NMAN)
that it is 727 NN, because it is like as if he said, first this (the 771v) should take

effect, and afterwards (once it became an 7121), this (the 2°»n>w) should take effect.
The reason »"1 assumes that this is what he meant (first 79 and then 2°»%W), and not that it should
be both an 79 and a 017w simultaneously -

= 3095 NN NYIY NMNN 9N DNIYYI ANY NN 19919 15D MINTH
For if that was his intent, he should have said 2 %2 79v navan (without the extra

nan [and with the additional '1']), but he said instead 2% n23%2n 799 NN (with
the extra N0 [and without the 1']), which mean he intends that 11 2170 21X 7 910 -
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However, 821 argues with >2X (there in 2°727), and maintains it is still a npY>r -
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I'See 1127 1"7 *"w1 who writes, QoMW XM ONTII AW XN N7 R°2°1 1O1°N1 ARNDNW TV YN,
2 He did not say on?w n™mn 72w nnan (as in the 7awn) but rather onw1 77w N0 (omitting the second navan).
3 See ‘Overview’ and footnote # 1.
“ This cannot be, for once the animal becomes an {7719, it can no longer become a o°n>w.
3 Therefore, by 7w NN 72 NMmN it is an 72w, and by D77 72w nan it is both.
® Even if he said on2w1 7919 nmn, nevertheless "1 argues with *", and maintains that it is 72 N0 only.
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For R21 is of the opinion that the reasoning of %'’ why it is a 79w nwn (whether
he said 217w NN 39 DAND, or 2°ARWY 9 NAN) is because the intent of a
person (when he makes these kinds of declarations) is that if they can both be

effective (legally), they should be effective -
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But if they cannot (both be effective legally) hold on to the first declaration
(727w N nn), for his intent is on the first declaration.

Summary
»2X maintains that in a dual declaration he means first one and then the other, unless

he combines them (then he means both), however X217 maintains that he means the
first (unless where they can both be effective, then he means them both).

Thinking it over
How 1is this M»01n relevant to our X°)107!
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